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Y (1 +e")(e*) —e*(e?) et
6 |f(x)= = = - —
(14 eX)* (1 + e*)?
7 1 f(x) = (e* + 2)(e*) + (ef —1)(e*) = 2e** + &*
fl(x)=(e®)x52x—1)* x2 +(2x - 1)°(—2e™%)
) = 2e"**(2x — 1)*(6 = 2x)
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9 f'(‘x) — 3x? — 5 X 2e** = 3x% — 10e%*

10 | f(x)= =
11 | Fiix)=(*) (;) +(nx)(3x%) =x*+3x*Inx
2 {1 MR
12 | 1 X~ (;) =(nx)(2x)  x—2xInx 1-2Inx
ot X)) = - — et -
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: e :
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18 | f(x)=( )(;) + (Inx)(4x*) — Ee" =x"+4x"Inx —ze"

A - o e+ xInx)
19| FF(x)= (e*%) (w) + (Inx)(2e**) = ( ‘
X b
Ry 37) f B e 7_)(3'\_In3x+ln7x
20 | fi{x) = (In3x (7x')T In7x 3”)— =
21 |[fX)=5—s5
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P(t) =100+ 20sin2nt

dP

?17 = 40mcos 2t

a |f(x)=cosx

b | fi(x)=3+sinx

¢ |f(x)=3cosx—2sinx

84 dada cagd O (a0

a | [f(x)=(e*)(—sinx)+ (cosx)(e*) =—e*sinx +e*cosx

| (sinx)(1—sinx) — (x + cosx)(cosx)

I" (.x ) =

sin‘ x

sinx — sin® x — xcos x — cos? x

S 27T,
b Sin© X

sin x — (sin® x + cos* x) — xcosx

sinZ x
sinx—1—-xcosx

sin” x
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a | f(x)=-5sin5x
o COS X
b. | e —r—
2Vsinx
¢ | —3 sin 3x
X =
( cos 3x
86 dakus 4 Jla agh (s (3853
h'(x) =4 x Zcos=t = Z,—nco.s‘Zt
6 6 3 6
86 dada Jiluwall Jaly il
1 [ f(x)=-2sinx+cosx
2 | f{(x)=—sinx
3 | f'(x) =cosx+sinx
4 | {x)=(x)(cosx) + (sinx)(1)
= XCOSX +Ssinx
5 f'(x) = (sinx)(—sinx) + (cosx)(cosx)
= —sin® x + cos* x
" f(x) = (e*)(cos x) + (sinx)(e")
" =e*cosx+e*sinx
Lo (cosx)(e®) = (e*)(—=sinx) e'cosx+e’sinx
1.4l 0= R = 2
COS“ X COS= x
g8 | f(x)=2xcos(x*+1)
() COS X
xX) = ——-
9 ([ sinx
10 | f'(x) =—=5sin(5x—2)
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11| f(x) = 3 cos 3x — 6sin 6x

fl(x) =—2x~-3)sin(x* - 3x-4)

f'(x) = (€2*)(10 cos 10x) + (sin10 x)(2e**)

= 10e** cos 10x + 2e**sin10 x

AT 4 .
f'(x) = (cos x?) (;) + (In x)(—2x sin x*)

14
= ;—_(cos x?) ~ 2x(In x) sin x*

15 | £/ = (Va#1) (Feos—) + (sin) (m>

f(x) = 4(sin x)?

6 .
l f(x) =4 x 2(sinx)(cosx) = 8sin x cos x

f(x) = (cos 2x)>(cos x)
17 | f (x) = (cos 2x)*(—sinx) + (cos x) % 3(cos 2x)* X —2 sin 2x

= ~(cos 2x)3(sin x) — 6(cos x)(cos 2x)? sin 2x

s b0 1 o 5 P
18 | f{x) =5X—=cosVx =—=cosvx
2Vx 2\x

19 | f/(x) = 2(cos2x —sinx)(—2 sin 2x — cos x)

e ~  2€082X 1 e LS 2X
20 | f(x) =—=cosvx +— = ——=COS VX +——
2vVx 2vsin2x 2vx Vsin 2x

(sinx) (2 (Inx) X —;) — (Inx)?*(cos x)

7 x) = %
11 [ (%) sin“ x
2sinxInx—xcosx(Inx)?
© xsin? x
22 | D'(t) = 400 x 0.4c0s 0.4t = 160 cos 0.4t
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23 | A0 T T )] =365 5| 365 ,
dy 1(‘1 ((sin R stn ) + ( \( )\
— =—|1—{(sinx)(—=sinx) + (cosx)(cosx
d,\‘ 2 \ \_< / . £ 2 \ J\ ) "]
:;l—,(l — (—sin® x + cos? 1)\)
—:é(l + sin? - COS* Xx)
24 & ~;(~'sin2 x +1 — cos*x)
— 1(sin? x + sin?
= x)
= 1(,Z‘;ur x)
2
= sin’ x
f(x) = (e* cos x)(sin x)*
25 | f'(x) = (e* cos x)(2(sin x)" cosx) + (sinx)?*((e*)(—sin x) + (cos x)(e*))
= e*sin x(2cos*x — sin? x + cos x sin x)
1 /‘1\
26 | F'(x)= —?LOSL;)
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1 |d
2 |b
3 |a
4 1€
5 |c
6 |a
7 b

(fg) (x) = (f0))(g'(x) + (g@)(f (x))
8 [ (f9)'(2=(@)g' @)+ (g@)(f)

=(3)2)+(1)(~4) =2
([) () = D) (®) - (.tz(x))(‘q (x))
‘ (g9(x))

Y o (a@)(f(2) = (f(2)(g'(2)
9 (L) 2)-\9 )(F'(2)) (_/3( ))(g'(2))

g’ (9(2))

_ =9 -03)2)
(1)% -

Bf - 4f9)' (@) = 3/ () = 4((f(0))(g'®) + (g@)(F () )

(3f—4fg)(2) =3f(2)—4 ((I’(fZ))(g'(Z')) - (9(2)_)(1“(’2)»)?)
o = 3(—4) - 4((3)(2) + (1)(~4)) =—20

h'(£)=0.12 x 0.1e*Y
11

= 0.012e"Y
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12 |R'(3)=0.012e"13 = 0.016
- Bx+ 1)) - (x)(3) 1
I (X) - T 4%\2 - B - YA
(3x + 1) (3x + 1)“
13
1) == .
£ T3+ 16
f(x)=(x*+2) (1 + ;.) + (Y + \.f’?)(Zx)
2\ x/
14 | 4 , |
y . 1 i ‘ 1 ,
f@)=4*+2)(1+——=]+(4+VE)(2x4) =18(1+) +6(8) = 70.5
\ V4, ~ 4/
fi(2)=3e™* ~3e %
15 5 i
f'(1) =3e’*—3e™?
f(x)y=-2x
16 | _
f(20) = —2(20) = —40
ff(x)=x>3B)Bx-1)*3)+(3x—-1)*2x)
17 {1 = 1)B)3B-123)+ (3 -1)3(2)
=36+ 16 =52
f(x) = (x+ 3)2(3e?*) + (e**)(2)(x + 3)(1)
f(2)=(2+3)*(3e®) + (e°)(2)(2 + 3)(1)
18 ) ,
= 75e° + 10e°
= 85e°
s 1 4
X0 N e
19 2 £ %
s - 3 1
f (6, = e ‘)2
20 | fl)=—22
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—1 % 5(x* +16)*(2x)

f(x)= D 10

(x*+16)
21
~10x
- (x2 +16)°
f(x) = (x* —5x + 2)%
& 4
59 f'(x) Z."“w 5x42) 4(Zr—5)
) 2x—5
4y (x? —5x +2)3
f'(x) = —40(8x* — 6)*'(16x)
23 \
= —640x(8x* - 6)"Y
4 ) —-1x2 L -2
2T )= (3+2x)2 (3 + 2x)?
: (x* +1)(3x%) — (x*)(2x)
f(x)= m— =
(x< + 1)
25 |
it 4 3x°
(x% +1)?
f'(x) =(2x—8)%6x)+ (3x2 —4)(2)(2x - 8)1(2)
26 = (2x — 8)(6x(2x — 8) + 4(3x% — 4))
= (2x — 8)(24x* - 48x — 16)

f'(x) = x°(6x+4)+ (3x% +4x - 7)(5x*)
= 6x° + 4x° + 15x° + 20x> — 35x*
= 21x% + 24x° — 35x*

27
Al da
f(x) = 3x7 +4x% - 7x° ol la
f(x) = 21x° + 24x>— 35x*
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f'(x) = (x*)(4)(2x + 6)*(2) + (2x + 6)*(3x*)

28 s 7
=2x*(2x +6)*(7x +9)
29 | f/(x) = 3(e™ +e)*(—e™™ + &¥)
f'(x) = (2x*)(=e*) + (e7¥)(6x%)
3 . , .
9 = =2x%e"* + 6x*e”*
: (x+1)(e*)— (e¥)(1
TR '(_ ,). .( )(1)
(x+1)2
31 xe*
~(x+1)2
32 | F) =5 x — 2
- . L —
f(x) 5*-4 5x—4
_ e*
33 f (x) = ; =1
34 | F(x 6x + 2
z g5 3x2 +2x—1
£ f'(x) = (x°)(3 cos 3x) + (sin3x)(5x*)
39 SARIN
= 3x° cos 3x + 5x*sin3x
f(x) = (cosx)* + sinx
36 | f'(x) = 2(cosx)'(=sinx) + cosx
= —2cosxsinx + cosx
(=sinx) o,
37 £02) © (2\/'(305 x) (Veosx)(1) —sinx cosx
X)= , = -
R 2x\/cos x b o
—sinx , . :
38 | f'(x) = (sin 5x) ( ) + (In(cos x))(5cos 5x)
. COS X
-1 X 2x
2 +0)2 ~1x2x x*49 2%
39 f'(x) — (A X )) — ~ i X =—
- 1 x2+9)2 1 X2 +9
x4 +9
40 | f'(x) = (e**)(2 cos2x) + (sin 2x)(2e%**) = 2e**(cos 2x + sin 2x)
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